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PART A - ¥ 9™

1. (@ Define market economy.

A SLNSR vieeat wis | :
®) What does. a point below ‘the production possibility frontlerﬁ
indicate ? 1 ;
@wamﬁwfﬁwm@raﬁﬁ“ﬁWQ |
(c) What is meant by inferior goods ? 1‘
PR =y 7o i @R -

(d) What 1s an indifference curve ?

Retors @ e

() If there is no change in quantity demanded despite a change in the

price of a commodity, what will be the price elasticity (eP) of
demand ? it

ﬁﬁmwﬁaﬁwﬁmm%mﬁmmﬂ
ORG bifwis w Ffegeiet (e,) F© 71

(/) Whatisa production function ? : 158
T o F1 2 —
2. Distinguish between positive economics and normative economics.
2
3 @ e SAR@IER “tidky =Tl | ',
3. Mention any two important factors determining price elasticity of demand.
o

it wa Rfezviet Fdiad 3t @ @I 76 ewgsd S Smd @l

4. Suppose, when the price of a good is ¥4, the quantity demanded is 25
units. As price increases to ¥ 5, the quantity demanded falls to 20 units.
Calculate the price elasticity of demand. 28

4@l %, GG AT TN 4 Bivt 20 @R BifEwE AR 25 97 77 | 72 ARy
WS 5 Bl 0T, © Wsﬁmaﬂﬁmﬁzoawwwmmsﬁmm
Bfogsee [T @i
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Can there be some fixed cost in the long run ? Justify your answer.

1+1=2

A B W Al s Teae ot S Wi e T |
OR /w3t
What 1s marginal product of an input ? 3
&3 CAMGTR 2N Beotwy o
Write down the conce ' . ¢
pt of normal profit. _ -

FeliRd TS 9=l et |
What is monopolistic éompetition? oy | ?

GBI AfeRPONET AT e

What does the Average Fixed Cost (AFC) curve look like ? Why does it
look so ? , 1+3=4

¢ %9 7 (AFC) @Wﬁ@ﬁﬁmﬁéﬁﬁu@%%ﬁ (2
=r OR / @2t

What is meant by Returns to Scale ? Give the meanings of various stages
of Returns to Scale. - 1+3=4

Wi 2o <ee R @RiEe Jiow s e eforme ol G|

What is an isoquant ? Why are the isoquants downward sloping ?
2+2=4

N Tl @A T2 TN oA @IS (@ oA M (XA AWF?

What does a firm wish to achieve ? What three conditions must hold for a

profit maximising firm in the short-run ? _ 1+3=4
<515 R eI e G i TS BT 2 FARIT T S AT G0
ARHIE I 5 1S 779 200 A2

OR / 5341

The production function of a firmis given as Q = 5L1/2K 1/2, Calculate the
Jevel of output (Q) when it employs 25 units of labour (L) and 9 units of

capital (K). 4
G518 AR AfSDIER Beriim Tem Q = 5L1/2K /2 (ReT Btz | 25 G35 4
e FACE AP SermeR ARSI (Q) Fefx et
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1. Explain two characteristics of perfectly comp eRive-TE - i
3
I AfriPronER aaiem 75 o T T 1
12. Explain the effects of a rightward shift of derr}anq Curvekc:?i:%;:ggﬁumf
Price and quantity when the number of firms In the marke xed. Use_;
suitable diagram for your answer. ¢
TS RS v efobin aet e SiG W @ ARG ST S g
IR 287! e eoi fooaw FRe i Fl | .,
13. What is demand curve ? Show with the help of suitable diagrams how the -
market demand curve can be derived from individual demand curlves.
+3=§
BRI Gl Y2 yReers ifdt i (A Rrera are bRt G #Ales A frag
AR (TS |
OR / 51241
Explain consumer’s optimum with the help of indifference curve
approach. 6
Rt @t srafon ARG (Srel SR e @l
14. The short run Total Cost (TC) schedule of a firm is given below. Calculate
the TFC, TVC, AFC, AVC, AC and MC schedules of the firm.
6
936 AfSHIA ZFRTA GG 4 (TC) Wb ey et zracz | «f & TFC, |
TVC, AFC, AVC, AC € MC wiFblecE fefa aan
Q TC
0 10
1 30
2 5
3 55
4 70
S 9
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OR /=341

Give the meaning of Total Fixed Cost (TFC) and Total Variable Cost

(TVC). Show with the help of a diagram that Total Cost (TC) is the sum
of TFC and TVC, 2+4=6

G T8 T (TFC) @ ais iRy 2 (TVC)-a e iCat | Bl I
(rdte @, TFC 8 TVC-GR ioieeia = @5 T (TO) |

PART B - 4 9™

15. (1) What is macroeconomics ? L
AT SR B
(b)) What is autonomous consumption expenditure ? 1
O CONTT S e
() Define excess demand in the context of income and employment
' determination. 1
w8 et Fefaeem e ofokie siftnm ket wie |
(d) What are public goods ? 1
Public (GwadRe) @& &5 17
() What is balanced budget ? 1
I ACEH P2
() Write down the meaning of flexible exchange rate. 1
sifaaeTe [FTa 2EE 9 @
16. What is GDP Deflator ? 2
G TR BAME TS 12
OR / wigt
Define budget deficit and trade deficit. 2

Q5 qirss @ AT qolen e wie |
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What is Personal Disposable Income (P DI) ? W 2
TS Y W e | i

Disﬁnguish between demand deposits and time dep o8t .

ISR SR ———— e ]

What is the difference between Ex-ante investment and Ex-pogt

investment ? 23
AT R ere RiRcateom e slidy A2
Mention any two items of non-plan expenditure of a government budget‘_

| %

IR [ R T — @ (e [ S T

‘What is Balance of Payments (BoP) ? Mention fwo main accounts of BoP.

1+1=2
(TTOICR 7l (BoP) 2 BoP-i /5 el oA S 90l |

Suppose the GDP at market price of a countryi in a particular year is ’A

1100 crore. Net Factor Income from abroad is ¥ 100 crore. The value of
Net Indirect Tax is ¥ 150 crore and National Income is 2 850 crore.
Calculate the aggregate value of depreciation. 4
2, Gl FS = 3 (e T M@ GDPyp- #ifE T 1100 il |
RO (A0 @il Solmicras e i (NFIA) 2 100 (115, &% S{T FE AR
150 (S @ SIS Wizm #Afwiel 2 850 (Pife 20aT, a0 TG o7 F© 2=
SN A | |

Define Intermediate goods, Final goods, Consumption goods and Capital
goods. 4

TGS AN, SR AN, colsy AN @ R AR e we |

Measure the level of ex-ante aggregate demand when autonomous
investment and consumption expenditure (A) is ¥ 50 crore, MPS is 0-2 and
level of income (Y) is 24,000 crore. State whether the economy is in
equilibrium or not (cite reasons). 3+1=4
Tog [ ¢ cois 3 (A) 50 IS, AT Few kel 0-2 @ iy w7 (Y)
4,000 (b e IS AN SifRwt AR 0 7@ [l | @3 e
SYHIOre SR AT Fe T (TS |
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| OR / &534f
The autonomoyg consumption in an economy is ¥ 500 crore and total

personal disposable income is 25,000 crore. If the marginal propensity to

consume (mpc) is 0-8, find out the level of aggregate consumption. 4

> SITTZ T Coltom siffe 500 G Bl @ Gils TS TAIY S
5000 GG ST | 215 cota e 08 2o ek AR (o7 AR
FEIN o -

What is revenue deficit in a government budget ? Explain its implications
of revenue deficit. 1+3=4

TP 0D JIGS Aer e e wiofon et Gge ARYS o1 IR A

Differentiate between devaluation and depreciation of currency.
4

TR SR 8 @ IR gEeacen T MRy e |

Explain the circular flow of income in a simplified economy with two
sectors — households and firms. 6

AR @ TP P — 2 Felege @ofb et TLRTHIS WG bR 2RI
YT | | | |

OR / @%dt

Write down some of the limitations of using GDP as an index of welfare
of a country. | 6

G (O TR IS A GDP IFAE (IR Szt Bt (&Ted |

What are the main functions of money ? How does money overcome the

shortcomings of a barter system ? 2+4=6
TR A PR e @ Rrei R adw SR W FEe

OR / &4l
Briefly explain any four functions of the RBL. 6

SRS RErS E (RBI)-F (F (@el 5176 SR FCHCo! W01 A |

X
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